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Notes	
  6-­‐1:	
  Area	
  and	
  Perimeter

________________	
  is	
  the	
  number	
  of	
  square	
  units	
  needed	
  to	
  cover	
  a	
  surface.	
  	
  

Area	
  is	
  measured	
  in	
  ___________________________________.

_____________________	
  is	
  the	
  distance	
  around	
  a	
  6igure.	
  	
  

Perimeter	
  is	
  measured	
  in	
  __________________________________.

Shape Area Perimeter 

Area of rectangle = Length x 
Width  

A = lw 

Perimeter of rectangle 
= 2length +2width      

P = 2l +2w

Area of square = side x side  

A = s2

Perimeter of square = 4 x side           

P = 4s

Area of triangle = ½ x Base x 
Height 

A = ½ bh

Perimeter of triangle = 

P = a + b + c
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Ex.	
  1	
  	
  Find	
  the	
  area	
  and	
  perimeter	
  of	
  the	
  6igure.

c. 

a. 

b. 

AREAPERIMETER

Ex.	
  3	
  	
  	
  Find	
  the	
  area	
  and	
  perimeter	
  of	
  the	
  6igure.

a.	
  	
  Rectangle	
  with	
  length	
  8	
  centimeters	
  and	
  width	
  4.5	
  centimeters.

b.  
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Sometimes	
  we	
  have	
  to	
  6ind	
  the	
  area	
  or	
  perimeter	
  of	
  _______________________	
  shapes.	
  	
  

In	
  order	
  to	
  6ind	
  the	
  area	
  or	
  perimeter	
  of	
  irregular	
  shapes,	
  you	
  need	
  to	
  
_________________	
  up	
  the	
  6igure	
  into	
  shapes	
  we	
  do	
  know	
  how	
  6ind,	
  then	
  _______________	
  
them	
  all	
  together.

Ex.	
  4	
  	
  Find	
  the	
  area	
  of	
  the	
  following	
  6igures.

a.

Ex.	
  4	
  	
  Find	
  the	
  area	
  of	
  the	
  following	
  6igures.

b.
5 inches

7 inches

6 inches
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Ex.	
  5	
  	
  Solve	
  the	
  following.	
  

a.  What is the length of the third side of a triangle if one side 
measures 10cm, the second measures 15 cm and the perimeter is 
45cm?

b.	
  	
  How wide is a rectangle if the length is 60cm and the perimeter is

180cm?

1. A painting measures 40 cm by 35cm. How many squared cm 
does its surface cover?

d.  If the area of a rectangle is 60 cm2 and its width is 6 cm. 

What is its length?


